FL T +=
OFHI DFEHREFH 1 A L4 H H SFI5HE5 A 12H
Fa44 54 AFL T = ANl F i A KL &
OBk B AT W OIR ST6HE3H28H RV
[409% W & B SRR ST R / 13 Z ALt AR PN e
B RO T SRR TR sy | f Ml ] 1,620,000 F3)
# OReH (Bt A %) | ( 1,782,000 )
Oft4 i A Il BR A #% -H
— VSR v & — T e R SR e A TS R e T ( B A %8 ) | ( - M)
OTHIGHT - JBITHAT - MALGFT % L & R 1, 585, 000 [
— BT 5 5 R N BormE=ReE) | ( 1, 743,500 )
P 5 X4 e %51 (A %5 2 [ %5 3] ES
RS I AEMREE)— 2 FER
ERAE A ST S & an [ESIES
MRSt 2 7 <~ Fo 3t [EIES
VERBESR T3kttt 1, 785, 000 1, 685, 000 1, 585, 000 AL
JFETL V=7 v 7kttt %k [EES

I T3 RRAA S AL AL ST




